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F - 399

M.A. (Second Semester)
EXAMINATION, May - June, 2022

Economics
Paper First

[Micro Economics]

Time : Three Hours] [Maximum Marks:80

     
Note: Attempt all the sections as directed.


(Section - A)

 
(Objective/Multiple Choice Questions)

(1 mark each)

    
Note : Attempt all the questions.

 
Choose the correct answer.

P.T.O.
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1.  

(A) 

(B)  

(C) 

(D) 

Limit pricing concerned

(A) Monopoly

(B) Perfect competition

(C) Oligopoly

(D) All of above

2.      

(A) 

(B) 

(C) 

(D) 

The Economist concerned with the prudence theory of
management.

(A) Baumol

(B) Marris

(C) Williamson

(D) Bain
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3.  

(A)      

(B)    

(C) 

(D) 

From the fixed price in the limit price theory -

(A) Exit of firms in the industry is prevented

(B) The entry of firm is in the industry is prevented

(C) Suitable both correct

(D) None of above

4.    

(A)  

(B)  

(C)  

(D) 

An example is the structure of the forest

(A) Stable equilibrium

(B) Dynamic equilibrium

(C) Partial equilibrium

(D) General equilibrium
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5.  

(A) 

(B) 

(C) 

(D)  

Indeed a problem:

(A) Static

(B) Dynamic

(C) Suitable both correct

(D) None of above

6. 

(A)  

(B)   

(C)  

(D) 

Food problem is related -

(A) Game theory

(B) Input output analysis

(C) Linear programming

(D) Duopoly
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7.  

(A) 

(B) 

(C)  

(D) 

Games theory is related

(A) Monopoly

(B) Duopoly

(C) Perfect competition

(D) None of above

8.   

(A)    

(B)  

(C) 

(D)  

Input-output Analysis related

(A) Partial equilibrium

(B) General Theory

(C) Suitable both correct

(D) None of above

P.T.O.
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9.    

(A)    

(B)    

(C)  

(D) 

This is called the compensation theory

(A) Theory of welfare economics of Pigou

(B) Theory of welfare of economics of Pareto

(C) New welfare economics

(D) None of above

10.         
 

(A) 

(B) 

(C) 

(D) 

Which Economist presented the individual value idea of
social choice.

(A) Marshall

(B) Pareto

(C) Little

(D) Arrow
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11. 


(A)  

(B)  

(C)  

(D) 

The specificity of the instrument generates the rent. This
idea has been formulated.

(A) Classical economist

(B) New classical economist

(C) Modern economist

(D) None of above

12.        

(A) 

(B) 

(C) 

(D) 

Social welfare function is related to which economist?

(A) Kaldore

(B) Bergson

(C) Scitovosky

(D) Hicks

P.T.O.
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13.    

(A) 

(B) 

(C) 

(D) 

Growth maximization model is concerned with

(A) Marshall

(B) Keynes

(C) Marris

(D) Bayol

14. 

(A) 

(B)  

(C) 

(D) 

According to Pareto a state of optimum well-being can
be achieved

(A) Perfect competition

(B) Imperfect competition

(C) Monopoly

(D) None of above
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15.     

(A)  

(B)  

(C) 

(D) 

Pigou is the basis of welfare economics

(A) Cardinal utility

(B) Ordinal utility

(C) Suitable both correct

(D) None of above

16.       

(A)    

(B)    

(C)    

(D)  

What is the modern theory of interest known as.

(A) Hansen-Hicks

(B) Interest theory of Keynes

(C) New classical theory of interest

(D) None of above

P.T.O.
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17.  

(A)  

(B) 

(C)  

(D)  

Cobweb Theorem is example

(A) Partial equilibrium

(B) General  equilibrium

(C) Static equilibrium

(D) Dynamic equilibrium

18.           
 

(A) MRP = MFC

(B) AFC = MFC

(C) MFC = MRP = AFC

(D)  

If perfect competition exists in the factor market then firm
is the position of equilibrium.

(A) MRP = MFC

(B) AFC = MFC

(C) MFC = MRP = AFC

(D) None of above
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19.       


(A)  

(B)  

(C) 

(D)  

Reversing the supply curve of labour means workers or
labour at higher wage rates.

(A) Work more

(B) Work less

(C) Prefer more comfort

(D) None of above

20.         


(A)  

(B) 

(C) 

(D) 

Marginal productivity theory defines the wages of any re-
source for its.

(A) Adds to the price of goods produced

(B) Adds the contribution made to the total production

(C) It relates to the total out put of the goods produced

(D) None of above

P.T.O.
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 

Section - B

  

(Very Short Answer Type Questions)

(2 marks each)

  

Note: Answer any eight questions.

1.   

What is meant by sales excess equation?

2.     

Define partial equilibrium.

3. 

What is meant by management laxity?

4.      

Define the social welfare function.

5.    

What is the compensation theory?

6. 

What do you understand Linear programme?
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7. 

Who propounded Game theory. Define the game theory.

8.       

Define the welfare economics of Pigou

9.        

Who propounded the modern theory of interest?

10. 


How is the equilibrium wages determined in perfect com-
petition?



Section - C

  

(Short Answer Type Question)

(3 marks each)


     

Note: Attempt any eight questions. Each questions is total
answered in about 75 words. (Any 8)

1.        

P.T.O.
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Explain any four elements of modern theory of rent.

2.      

Explain the importance of Game Theory.

3.     

Explain the condition of Linear programming.

4.       

Explain the superiority of Baumol's model.

5.  

What do you mean by pareto optimality?

6.  

What is the difference between stable and unstable equi-

librium?

7.       

State the assumptions of Marris Growth maximization

model.

8. 

What is transfer income?

9.   
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What is the problem of Yogic Modesty?

10.      

Define the characteristics of Pigou.



Section - D

  

(Long Answer Type Questions)

(5 marks each)

         
    

Note : Attempt any four questions. Each question is to
be answered in 150 words. (Any 4)

1.        

Discuss the Growth maximization theory of Marris.

/OR




Critically explain the Marginal Productivity theory of dis-
tribution.

2.      

P.T.O.
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Explain the modern theory of wages.

/OR

    

Explain Euler's Theorem.

       

Explain Linear programming in production theory.

/OR

      

Pareto's the description of optimum condition.

4.       

Explain the theory of Game in Duopoly.

/OR

      

Explain the modern theory of interest.


